DESA

INTERNATIONAL

VPC250

GAS CONSTRUCTION HEATER TC250
lllustrated Parts List RCP250
DESA250
IMPORTANT: Do not use key numbers when ordering service parts. Always order components
by part number and description. Include model and serial numbers.

KEY PART
NO. NUMBER DESCRIPTION QTY.
1 * Assembly, Top Deflector 1
2 " Boby, Shell 1
3 097173-01 Assembly, Burner Ring 1
4 * Assembly, Base 1
5 097154-01 Fitting, 90° Street Elbow

1/4” FPT x 1/4” FPT 1
6 097160-01 Clamp, Main Burner Pipe 1
7 097153-01 Pipe, Main Burner

1/4" FPT x 1/4” FPT 1
8 097152-01 Valve, Main Burner Shutt-off 1
9 097158-01 Fitting, Female Elbow

1/8" FPT x 1/4” Flare 1
10 097155-01 Valve, Safety 1
11 097157-01 Connector, Female

1/4” FPT x 1/4” Flare 1
12 097162-01 Nozzle, Burner 1
13 097156-01 Washer, Shim 1
14 097150-01 Ignitor, Electrode 1
15 097163-01 Assembly, Pilot Burner 1
16 097057-01 Bracket, Thermocouple 1
17 099236-01 Thermocouple 12" W/Retaining Clip 1
18 097053-01 Bracket, Pilot Burner 1
19 097161-01 Orifice, Pilot Burner 1
20 M5788 Sleeve 1
21 M5787 Nut, Hex 7/16-24 1
22 097171-01 Assembly, Pilot Fuel Tube 1
23 097056-01 Bracket, Piezo 1
24 102445-01 Piezo, Ignitor W/Nut 1
25 LPA1020 Hose Assembly 1
26 LPA2010 Valve, LP Gas Regulator, 10 PSi 1
27 LPA4020 Adapter, Excess flow P.O.L. 1
28 hid Screw, Tapping AB # 10 x .50 8
29 - Screw, Tapping F # 6-32 x .38 1
27 097052-01 Bracket, Standoff 3
28 e Screw, Hex HD 10-24 x .50 3
29 ** Nut, Hex Cap WSR (10-24) 3

PARTS AVAILABLE - NOT SHOWN
LPA3000 Hose & Reg. Assembly 1

* No Longer Available
** Available at local hardware outlets.

DESA International

2701 Industrial Drive, P.O. Box 90004

Bowling Green, KY 42102-9004

Technical Service Department 1-800-323-5190
Parts Department 1-800-972-7879

102761-01
REV. A
9/96



HEATER EXPLODED VIEW




